Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-1V « EXAMINATION — WINTER - 2016

Subject Code: 3346003 Date: 17- 11-2016
Subject Name: Railway Engineering
Time: 02:30 PM TO 05:00 PM Total Marks: 70
Instructions:
1. Afttempt all questions,
2, Make Suitable assamptions wherever necessary.
3. Figures to the right indicate full marks.
4, Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is anthentic,
Q.1 Answer any seven out of ten. 3Ll SIHUBL Alcloll Feltel L.
1.  Define railway gauge and List out various types of raillway gauges with
dimensions.
1. 0 dwell cauvenl Ul el QAU ysiell 2w dwe{l uRHIEL Ué
ALE] A,
2. Write the functions of rails.
2. uelel stal dull,
3. Write any four advantages of uniformity of gauge.
3. Olgo{l AsUloll 518 UBL AR SLAEL Gl
4. Draw the line sketch of semaphore signal.
¥, AHSR Rostete] vl @A €l
5.  What is the adzing of sleepers?
u. elluReg Asolol Aed g7
6.  Discuss the necessity of geometric design of track.
5. 5ol ellMs vudutotell azRaid wr uul 52l
7. State the functions of points and crossing.
9. W8z el slllotetl stall weudl.
8.  Draw the figure of gathering lines.
¢. AuloL cgetel 25l €L
§.  Define the terms: (1) Flange way clearance (2) Throw of the switch
¢.  WEl yHwlal (1) Ao A UMR Ucloll awoall (2) Ul s 2
10.  Define routine maintenance of railway track,
0. 3¢ 250l RaMd waaell axwstal,
Q.2 (a) Draw the cross section of permanent way as per IRS.
Y. 2 () UHoloz dof LS DES BBURAA YHIEL ElRL.

OR
(a)  Write the difference between Bull Headed rail and Flat Footed rail.

@) oEl HlAal el AUl ustalal uel cAdell dle cull,
(b)Y  What are the effects of creep?
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glue(l AUu3A 58 B2

OR
Explain the causes of creep in brief,

gluotl 51200 gsHL UHesal.
What are the requirements of station yard?
ot ALde{l a3Raudl 58 B2

OR
Discuss about types of marshalling yard.

Hidello audett ysiAell uul 52U
Write the basic requirements of an ideal alignment.
AULEd el €lRlell Haed w3RalAl cul.

OR
Explain any two factors involved in selection of good alignment.

UL csel £l8le{l wrleoll 2ot sl wel ol uRual unostal.

What are the facilities required at railway station?

A Rt UR 58 YlArwdlell w3 &2

OR
Describe the working of the interlocking.

BoeC 5ol stel areuel.
Explain any four surface defects with their remedial measures.
AUl U Geetadl sl wel wR wi{lRAl dett Plael WA uHt .

OR
Write advantages and disadvantages of concrete sleepers.

si32 w{luell stael wel Aslael cull.
Give the specifications of track ballast material.

25 leReeoll Aurdlsell .
OR
Define the following terms:
(1) Ruling gradient  (2) Pusher gradient  (3) Momentum gradient  (4)
Gradient at station yards

ol Aotl UEl UMMl

(1) pcdloL gLl (R) YR BlaL (3) Aol ala (¥) wasl A uRell aln
What is grade compensation on curves? Give its limit for Indian railway curve.
s Uej As sLAaet g 87 elrdla 2 as U2 defl Halel 2l

OR
Explain super elevation on curve and describe objects of providing super
elevation.

A5 URe] YU dl(Adalst umamdl wal Yur AldAast Y3 wsclsll
&l veliel.
Discuss resistance due to friction that a locomotive in motion has to overcome,

aUAHL U AL ARt UR ULl S0 ALAL Al uul 52

OR
Discuss resistance due to gradient that a locomotive in motion has to overcome.
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@) UL Wedl A6ERel UR aloell 51281 cldlell Aol uul 52l 03

(b  Explain acute angle crossing. 04
@) g veu sldlor waemal. 0¥
OR
(b) Explain scissors crossing. 04
(@) st slflol anenal. 0¥

{c) Draw the neat sketch of simple left hand turnout. Explain its various parts and 07
the working principle of the turnout.

(5) el aadl [oetell a9 sl €RL detl QAW ol AHcl 09
e [Aotetoll stel Rttt uxndl,

Q.5 (a)  Write a short note on “Conning of Wheel”. 04
.U () “Uslell 29§50 UR 2sellu clull. 0¥
(b)  Give the merits and demerits of timber sleepers. 04

(0) st elluzell slael uel SR sLAEL Gull. 0%

{c)  Describe the causes for maintenance of railway track. 03

5) A 250l waaellett stel weudl. 03

(d)  Write the objectives of signaling? 03

(5) Roste(lototl &gl cull. 03

ek sfeske ok sk skosk

3/3



